
Vereinsmeisterschaften Mühlhofen

Klasse: Gesamtjugend Einzel       17.11.2013/  Mühlhofen

Gruppe: A

Platz Name SP Spiele Sätze 1 2 3 4 5 6 7

1
Muche, Magnus

2 6 : 0 18 : 0
TSV Mühlhofen

X 3 : 0 3 : 0 3 : 0 3 : 0 3 : 0 3 : 0
4,4,4 7,8,4 7,7,7 2,2,0 7,7,7 7,7,7

2
Betz, Jannik

7 5 : 1 15 : 5
TSV Mühlhofen

0 : 3 X 3 : 1 3 : 1 3 : 0 3 : 0 3 : 0
-4,-4,-4 -7,7,7,7 9,-8,7,9 7,7,7 7,7,7 7,7,7

3
Büchel, Leo

4 4 : 2 13 : 8
TSV Mühlhofen

0 : 3 1 : 3 X 3 : 2 3 : 0 3 : 0 3 : 0
-7,-8,-4 7,-7,-7,-7 7,-7,7,-7,7 7,7,7 7,7,7 0,1,3

4
Jürgens, Vincent

3 3 : 3 12 : 11
TSV Mühlhofen

0 : 3 1 : 3 2 : 3 X 3 : 1 3 : 1 3 : 0
-7,-7,-7 -9,8,-7,-9 -7,7,-7,7,-7 -7,5,6,6 7,7,-7,5 4,1,8

5
Hirt, Jakob

1 2 : 4 7 : 13
TSV Mühlhofen

0 : 3 0 : 3 0 : 3 1 : 3 X 3 : 1 3 : 0
-2,-2,-0 -7,-7,-7 -7,-7,-7 7,-5,-6,-6 6,-6,7,10 6,7,6

6
Blumenstein, Lukas

5 1 : 5 5 : 15
TSV Mühlhofen

0 : 3 0 : 3 0 : 3 1 : 3 1 : 3 X 3 : 0
-7,-7,-7 -7,-7,-7 -7,-7,-7 -7,-7,7,-5 -6,6,-7,-10 2,5,7

7
Schwital, Carlos

6 0 : 6 0 : 18
TSV Mühlhofen

0 : 3 0 : 3 0 : 3 0 : 3 0 : 3 0 : 3 X
-7,-7,-7 -7,-7,-7 -0,-1,-3 -4,-1,-8 -6,-7,-6 -2,-5,-7

Gruppe: B

Platz Name SP Spiele Sätze 1 2 3 4 5 6 7

1
Büchel, Ben

7 6 : 0 18 : 0
TSV Mühlhofen

X 3 : 0 3 : 0 3 : 0 3 : 0 3 : 0 3 : 0
7,7,7 7,7,7 7,7,7 7,7,7 11,6,1 7,7,7

2
Kopp, Richard

2 5 : 1 15 : 3
TSV Mühlhofen

0 : 3 X 3 : 0 3 : 0 3 : 0 3 : 0 3 : 0
-7,-7,-7 2,2,3 7,7,7 7,7,7 7,7,7 7,7,7

3
Muche, Peer

3 4 : 2 12 : 8
TSV Mühlhofen

0 : 3 0 : 3 X 3 : 1 3 : 0 3 : 0 3 : 1
-7,-7,-7 -2,-2,-3 -7,7,7,7 7,7,7 7,7,7 8,5,-7,7

4
Muche, Fynn

6 2 : 4 7 : 13
TSV Mühlhofen

0 : 3 0 : 3 1 : 3 X 3 : 0 0 : 3 3 : 1
-7,-7,-7 -7,-7,-7 7,-7,-7,-7 7,7,7 -7,-7,-7 7,-7,7,7

5
Herfurth, Felix

1 2 : 4 6 : 14
TSV Mühlhofen

0 : 3 0 : 3 0 : 3 0 : 3 X 3 : 1 3 : 1
-7,-7,-7 -7,-7,-7 -7,-7,-7 -7,-7,-7 7,-7,7,7 7,-7,7,7

6
Rommelspacher, Jannik

5 1 : 5 6 : 15
TSV Mühlhofen

0 : 3 0 : 3 0 : 3 3 : 0 1 : 3 X 2 : 3
-11,-6,-1 -7,-7,-7 -7,-7,-7 7,7,7 -7,7,-7,-7 -7,7,-7,7,-7

7
Jürgens, Julian

4 1 : 5 6 : 17
TSV Mühlhofen

0 : 3 0 : 3 1 : 3 1 : 3 1 : 3 3 : 2 X
-7,-7,-7 -7,-7,-7 -8,-5,7,-7 -7,7,-7,-7 -7,7,-7,-7 7,-7,7,-7,7
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